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Worked example 

Transfer testing where Subdivision 165-CC applies to a 
net capital loss that is unutilised at the joining time 

This example shows how Subdivision 165-CC applies to a net capital loss that 
remains unutilised at the joining time and is to be tested to determine whether 
it can be transferred to the head company under Subdivision 707-A. 

When transferring losses under Subdivision 707-A, in certain circumstances 
section 707-120 requires that Subdivision 165-CC be considered. Three key 
elements are necessary for Subdivision 165-CC to apply: 

1 The company has a ‘changeover time’ after the ‘commencement 
time’ 

The company’s commencement time is 1 pm ACT time on 11 November 
1999 – or, if the company came into existence after that time, the time 
when it came into existence.1 
A changeover time occurs, broadly, where there is a change in the 
company’s ownership or control.2 In determining whether there has been 
a change of ownership (or control), the reference time is the later of the 
commencement time (11 November 1999) and the time immediately after 
the latest changeover time.3 

2 The company has an unrealised net loss (at the changeover time) 

The unrealised net loss at changeover time is calculated in accordance with 
the rules set out in sections 165-115E and 165-115F. In essence, an 
unrealised net loss is the excess of unrealised losses on assets of the 
company at the changeover time over any unrealised gains on assets. 
In calculating the unrealised gains and losses on assets, the assets are 
deemed to be disposed of for market value at the changeover time. Gains 
and losses on revenue assets, including trading stock, are included in the 
calculation of the unrealised net loss. Gains and losses on pre-CGT assets 
are also included. 

3 There is a subsequent realisation of a (capital/revenue) loss on 
assets held at the changeover time 

If there is a subsequent realisation of a loss on an asset held at the 
changeover time, then to the extent of the residual unrealised net loss 

                                                 

1 Subsection 165-115A(2) 
2 Section 165-115C and section 165-115D 
3 Subsection 165-115A(2A) 
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(RUNL)4 in respect of the company, the same business test (SBT) must be 
satisfied for the company to be able to utilise the loss. 
The legislation deems the realised capital loss, deduction or trading stock 
loss to be a loss (a net capital loss or tax loss) of the income year 
immediately preceding the income year in which the changeover time 
occurred.5 The company is also deemed to fail the continuity of ownership 
test (COT) at the changeover time and therefore cannot deduct the loss 
unless it passes the SBT.6 
Although the loss or deduction is deemed to be a loss of the income year 
immediately preceding the income year in which the changeover time 
occurred, it cannot be utilised before the income year in which the 
company actually made it.7 

 

On 3 December 2001, HeadCo had a changeover time under Subdivision 165-
CC, as a result of a 5% change in its ownership. There had previously been a 
47% change in its ownership, which occurred on 15 March 2000, and this was 
HeadCo’s only other ownership change since 1 pm legal time in the ACT on 
11 November 1999 (the commencement time). At the changeover time, 
HeadCo calculated an unrealised net loss of $5 million and the following asset 
was held:  

Asset Reduced cost base 
Changeover time 

market value 

D $6 million $1 million 

On 4 June 2002, asset D was disposed of for $0.5 million – a capital loss of 
$5.5 million (i.e $6 million minus $0.5 million). On 1 July 2002, HeadCo and its 
subsidiaries form a consolidated group, and there is no new changeover time 
for HeadCo or its subsidiaries at that time.  

The capital loss is not able to be utilised in the income year ended 30 June 
2002 as there are no capital gains, and it is HeadCo’s only unutilised loss at the 
joining time. HeadCo seeks to transfer its net capital loss(es) under Subdivision 
707-A. 

Application of Subdivision 165-CC 

In this case, the $5.5 million loss on the disposal of asset D exceeds the RUNL 
balance of $5 million, which means the RUNL balance is reduced to $0 at the 
time of the disposal on 4 June 2002. 

                                                 

4 Subsection 165-115BB(2) 
5 Subsections 165-115B(1) and (2) and paragraph 165-115BA(5)(a) 
6 Subsections 165-115B(3) and (4), and subsections 165BA(4) and (5) 
7 Subsections 165-115B(5) and (6) 
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